  EQ y\b(x)=\f(x+5;x-4) 
Первая производная:  EQ y'\b(x)=-\f(9;\b(x-4)\s\up8(2)) 
 EQ \b(\f(x+5;x-4))\s\up8(') = EQ  \f(\b(x+5)\s\up8(')\b(x-4)-\b(x+5)\b(x-4)\s\up8(');\b(x-4)\s\up8(2)) = EQ  \f(1\b(x-4)-\b(x+5)\b(x-4)\s\up8(');\b(x-4)\s\up8(2)) =

= EQ  \f(\b(x-4)-\b(x+5)\b(x-4)\s\up8(');\b(x-4)\s\up8(2)) = EQ  \f(\b(x-4)-\b(x+5)1;\b(x-4)\s\up8(2)) = EQ  \f(\b(x-4)-\b(x+5);\b(x-4)\s\up8(2)) = EQ  \f(x-4-x-5;\b(x-4)\s\up8(2)) =

= EQ  \f(-9;\b(x-4)\s\up8(2)) = EQ  -\f(9;\b(x-4)\s\up8(2)) 
Вторая производная:  EQ y''\b(x)=\f(18;\b(x-4)\s\up8(3)) 
Вторая производная это производная от первой производной.

 EQ \b(-\f(9;\b(x-4)\s\up8(2)))\s\up8(') = EQ  -\b(\f(9;\b(x-4)\s\up8(2)))\s\up8(') = EQ  -9\b(\f(1;\b(x-4)\s\up8(2)))\s\up8(') = EQ  -9\f(-\b(\b(x-4)\s\up8(2))\s\up8(');\b(\b(x-4)\s\up8(2))\s\up8(2)) =

= EQ  -9\f(-\b(\b(x-4)\s\up8(2))\s\up8(');\b(x-4)\s\up8(4)) = EQ  -9\f(-2\b(x-4)\b(x-4)\s\up8(');\b(x-4)\s\up8(4)) = EQ  -9\f(-2\b(x-4);\b(x-4)\s\up8(4)) = EQ  9·\f(2\b(x-4);\b(x-4)\s\up8(4)) = EQ  9·\f(2;\b(x-4)\s\up8(3)) =

= EQ  \f(9·2;\b(x-4)\s\up8(3)) = EQ  \f(18;\b(x-4)\s\up8(3)) 
